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Group-A (10 Marks)
Read the passage carefully and choose the correct answer : 2x5=10

A monkey lived in a fruit tree. It was on the river bank. He made friends with a crocodile. He gave
him fruits. They met regularly.

(@ Amonkeylivedina_ . (tree/city)

(b) Itwasonthe . (river bank/ market)

(c) Themonkeymadefriendswith . (acrocodile/a lion)
(d) Themonkey gavecrocodile_ . (food/fruits)

(¢) Theymet_ . (seldom/regularly)

Group-B (15 Marks)
Consider the following statements true or false : 1x5=5
(a) Nasirlivesin the city.
(b) Radha’s mother enjoys with her.
(c) Abigfairwas held at the time of the Fid festival.
(d) The first lime I took a chance I got a bottle of ink.
(¢) ‘Whatif”isa name ofa poem.
Answer the following questions (With in 10 words) : 1x5=35
(a) What s Peter’s favourite day in a week? (Prose- Who I am)
(b) Who believes to become the Prime Minister of India? (Prose- Who I am)
(¢) How many prizes did the boy win? (Prose- A Game of Chance)
(d) What is the name of the boy in the teat ‘A Game of Chance’?
(e) Whoisthe speaker of the Poem Whatif*?
Find out the parts of speech of the underrlined words : Lx5=5
(i) Johnreads is class-vi.
(i) We love India.
(i) The weatheris cool.
(iv) Iam tired of waiting,

(v) Thehorse runs slowly.
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Group- C (15 Marks)
Answer the following questions (With in 10-15 words) : 2x5=10
(a) Why was the shop called ‘Lucky Shop’? (Prose- A Game of Chana)
(b) ‘God lives in the heart of the Panch’ the aunt said. What did she mean? (Prose- Fair Play)
(c) Whatdid the two friends generally talk about? (Supplementary- The Monkey and the Crocodile)
(d) What happens to our body when we sleep? (Supplementary- The Wonder called sleep)
(e) Whatdid the specialist pescribe in addition to medicine? (Supplementary-A Pact with the sun)
Write a letter to your friend inviting him to join your Birthday Party. 5
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BilGF) SR SEI TS (Answer the following question) :

1.

(e ]

(5]

i

(=I5 (AT 7T (TR Arehe (Arrenge in ascending order) :
el (Example) : 37,42,22, 55

Ted (Answer) ;: 22, 37,42, 55

274 (Question) : 98, 65, 87, 72
BEIRES (Subtract) :
SUEEG] (Example) : 80
=37
43
%@.?T(Answer) :43
2% (Question) : 53
=27
©I91F (Divide) : 105 +3
Ted (Answer) : 35
24 (Question) : 165+ 3
T (e (Match the following column) :
A B
TRzt (Example) : ()3 x 5 (a) 36
(1) 12 x 3 (b) 15
e (Answer) : (i) — (b)
(i) —(a)
GReiE R wsf cre (Now match the follwing column) :
1 6 x7 (a) 100
(i) 8 x9 (b) 20
(iii) 10x 10 (c) 42
(iv) 4 x5 dy 72

GG 197 (Full Marks) : 40

2x3=6

4x1=4



Group-B (15 Marks)

5% 2RI ©E M€ (Answer the following question) : 1x5=5
=R <79 ¥ (Fill in the blanks) :
SFSTHER AT =2 x (0 + )
Perimeter of rectangle =2 x (length + ) Unit.
5
6. f’ 2 — foafSa RS ==

5

(b) 10 & (c) 25 @
Perimeter of the figure is-
5cm
(a) 13cm (b) 10 cm (c) 25cm

7. rey/fen et (Write true/false) :
x-3=5 <36 AT
X -3 =15 isan equation.

8. @l ‘L Codl Fare 2fF =iz i3 et | aggst sivfe <L toRl ware Tl e 1o #isita 2

Two matchsticks are needed to form the letter *L’. How many matchsticks will be needed to
make such five ‘L.

9. Seeififen fFCS et ¢
X G AL 10 (9l FrACR |

Write the algebric expression :

10 added to x.
Tox AnoteT e e (Answer the following question) : 2x2=4

10. < IefCmwias 2l aga g 5 Gl o, 3aF AR o 2
If each side of a square is 5 cm, find it’s perimeter.
1. CIE IS I8 x I29 | 5 27 17 O 201 9 27

Present age of Soma is x years. What will be her age 5 years from now?

5 2ot Tea RS (Answer the following question) : Ix2=6
12. (6 erea g a5 ™l 12 G «=R 14 Il 1 3219 251 36 Gl 20 vor AgHa o) e 2

Two sides of a triangle are 12 cm and 14 cm. Perimeter of it is 36 cm, find it’s third side.




3. AGIR 774 FCA (Complete the table) :

m 2 5

m+10

Group - C (15 Marks)
A eI GEa e (Answer the following question) : 2x2=4
14, efiaice e 3Gt (Write the number as decimal) :

10
15. iCs ios e e (Write the appropriate number in boxes) :

16. w6 A SgaArs 10 : 9 e SR G 57 20T, A 7 R ? 3x1=3

Ratio of two number is 10 : 9 and their sum is 57. Find the numbers?

o= ARETT Te Wi (Answer the following question) : 2x4=8
17, S oITeP CRGas ol 144 GI @R 292 100 TRl | R BICe 12 (T O 3 5 Afel 2
RS FoaE Sif e et e

How many tiles whose length and breadth are 12 cm and 15 cm respectively will be needed to fit in
a rectangular region whose length and breadth are respectively 144 cm and 100 cm.

18. Cﬁﬁmﬂwwﬁﬂﬁl%ﬁw1,80,000WWWIﬂﬁWB0,000W}T@eﬂ
FE|
(i) CTeTS AT AT @ TR AGT TS T T |
(ii) Qe O e I G ST T Tt

In a year Poulami Roy, a Govt. employee eared Rs. 1,80,000 and save Rs. 30,000. Find the
ratio of.

(i) Money that Poulami Roy earned to the money she saved.

(ii) Money that Poulami Roy earned to the money she spends.
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Group-A (10 Marks)
1 Awa wed =wEt (AP ot I WP AT A 8 (Fill up the blanks with correct

answer from the below given words) : 1x4=4

(a) SR IO & ATHE |

To grow, a plant need

(®) @W@Wm@f@awﬁﬁ@m@ww |

Materials do not allow electric current to pass through them are called
(c) TATABIZE & a3 el
Magnetite is a magnet.
(d) pECEA O O A |
The opposite pole of two magnet :
o, o, AR, (R |
Water, Attract, Natural, Insulator.
). SR ATY AR S TS ¢

SR BT wﬂwﬁgﬁmﬁﬁ@ﬁﬂ%@laﬁmmw{mﬁwﬁmﬁ%lw
mﬁ,w,ﬁe@mwwﬁ@wéml

Read the passage and answer the following questions :

«Environment is everything that is around us. It comprises of living (biotic) and non living
(abiotic) things. In the Environment there are different interaction between animals, plants,

soil and water.

*eRI spget et (Fill in the blanks) ¢ {53 =2
(a) ST offpt e g TG ST SR A0S |
Environment is everything that is us.

(b) @6 Tad TAMA |

It can be livingor ____ things.
ey /et @t (State True/False) ¢ 1x4=4
(a) e fafem AT 0 st o (g | (TS /e

In the Environment, there is no interaction between animals. (T/F )
(b) “ART T g st Seta B S| (e /)

Environment COMPrises of living and non-living things. (T/F)



(c) & T S Fe 2F |
Living things are also known as abiotic things. (T/F)
(d) N SR AR N

Everying around usis Environment. (T/F)
{(Group-B) (15 Marks)

18 11 %8 @ene (Match the following column I with column II) ¢ 1x5=5
Column I Column II
we/Fish = #iedl T/ Found in a compass
{35/ Snail T R p R S G/ Adtract an iron body
7=/ Magnets e/ Is an immovable joint
o coale/Upper Jaw | 4RI S/ Shows very slow movement
7% =@l /Needle oz A4 <wiw/Have fins on the body.
T @ Teg e (Write in one word) 2 1x3=3

(2) G pIRA IO G2

How many poles a magnet has?
(b) @WW@WWW@WW%W?

What do we call those joints where bones cannot move?
() <D (5Ta AT A |

Name a Magnetic Substance.
#RI9ETIR Ted WS (Answer the following question) (SA-) ¢ 2x2=4
(2) Pres e

What is a pivotal joint?
(b) 5T @l @l

Write any two pooperties of a Magnet.
o GG (Answer the following question) (SA-ID)2 3x1=3
(a) @b WWWW%W@W?

How a compass used to find directions?

or
BRI (T ST TS B 2 2 T GFTCAL RN CTUE ST T el

What is streamlised body shape? Give two examples of animals who has streamlined body
shape.

Group- C (15 Marks)
ﬁW?ﬁﬁﬁ@T(Fﬂlintheblanks)z 1x3=3
(a) TR AT ST BIC |

The contractionofthe pulls the bones during movement.
(b) b OGR (P _ foofcaE el

An electric cell has terminals.



(c) & AT AfFTe 28T AT =

The process of changing of water intoits Vapouriscalled .
8. paduaTEE Ted S (Answer the following question) (SA-T)$ 2x2=4
(a) @6 A A2
What is ball and Socket Joint?
®) T 8p TR B 7 A I o SriE e |
What is the purpose of using an clectric Switch? Give any two uses.

9. Sivaaea TS (Answer the following question) (SA-II) ¢ 3xl=3

(a) COINE TS FATE AR cwwﬁﬁmww&ﬁwam @2
Do you think it is better touse Compost instead of chemical fertilisers? Why?

10. SET 2ReiER eI NS (Answer the following question) (LA)3 S5%x1=5
(a) G el 3% T2 ¢ 7T R o e s e R &3 PAA (I AT TR
T FTR, O FO e Fa2

How are clouds formed? A bar magnet has no marking to indicate its poles. How would
you find out near wheih end is its north pole located?

<i/or
AT e @ 2l A Sl AT ST DI TS AT IR |

How do plants and animals help cach other in the exchange of gases in the atmosphere?
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w1 (Subject) : TI% <& (SST)
g (Time) : 1 é Hours B R (Full Marks) : 40
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1. ST St Siel R ATst =R fFefde eetaia Tea7ie ¢ (Read the passage given below
and answer the questions that follow) :

G ReiieT okt wifaeia 0 itg o | @2 RiieT serstots I 77 i | SR8 @
ST SR SIS IR T Ol FeN T H e |

Most of the earth’s surface is covered with water. This huge portion of the earth is called
Hydrosphere. The solid portion of the earth on which we live is called the Lithosphere.

() ¥R 2574 <& (Fill in the blanks) ¢ Z2R3—=8
(1) TR R et SR 0 =R |
Most of the earth’s surface is covered with
(i) @2 ReireT ool Sl e =i ;
This huge portion of the earth is called the
(iii) =RFT @ T R Sota = AP I Ol <= & |
The solid portion of the earth on which we live is called the
() e/ et (Mark True/False against the following) ¢ 2x2=4
(1) SIPD 0SS! SR B (74T i |
The New Moon is visible in the night sky. (True/False)
(i) I -MEE SRS FETEA Al

The Buddha did not encourage animal sacrifice. (True/False)
4-fFet9 (Group-B) (15 Marks)

2. 9% &eq I=IE F0@ (Choose the correct answer) 2 Ix5=5
() *oF4i AR YNGR A4 SoAma—
(a) RIS (b) e (c) PIT-ER-oEIRT
The major constituent of atmosphere by per cent is-
(a) Nitrogen (b) Oxygen (c) Corbon-di-oxide
(i) <jfA<T JZE =T T —
(a) =<t (b) @t (c) gl
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4.

The largest contenent on earth is -

(a) Africa (b) Asia (c)Australia
(i) CTTON I (T R HI 3o) w7l ICE, OIF TH—

(a) e (b) ==siE (c) =eevart

The place where Gautam Buddha reveived enlightenment was-

(a) Bodhgaya (b) Mahagoya (c) Kalagaya
(iv) AceT 2iE I e —

(@) Sfore (b) ST () ot

The ancient name of was —

(a) Kalinga (b) Maratha (c) Gaya
(v) S i st e o 7fge v I A4 se—

(a) “oER (b) w=fEmE (c) wafTER

Land measurement and keeping land records is the main work of-
(a) Patwri (b) Tehsildar (c) Clerk

e Te IS (Briefly Answer the following) ¢ (7 i< € (Any 5)
() IR [KieT Ta9y@= 1= 9 @l

Name the different layers of atumosphere.
(i) W CoNeTied SRS b ST =1 ol |

Name the two continents that lie is the Southern Hemisphese.
(i) FRr=Ite Ige =T @ w6 T0ET TN @ |

Name any two tools used in agriculture.
(v) AN & foeme

Who was Panini?
(v) TR e e

What is the role of police?
(vi) & ey 2

What is Noble Truth?

si-Retat (Group-B) (15 Marks)

2x5=10

T AT TEF 718 (Answer the following questions) ¢ (T @ &6 (Any 5) 2 x 5=10

() Tt sifde TrefiTe T mie orl I @4 2
Why are river plaius densely populated?
(ii) T SIgeT TR (e ?
Why are moontainour regions sparsely populated?



s aa e

s messagge for his subjects?

(i) ASE afs
What was Ashoka’

(iv) Sl N
What are Upanishads?

() A A o T T TR
Write any three function of the Municipal Council?

(vi) SRR a2

layed by 2 tehsildar?

What is therole P
sx1=3

& (Answer the following questions) 8 (X CPH T (Any 1)

5. SpamEEmesET

@ KeITRILH TAEA?
How are mountains useful tomen?

=T e TR S AR?

What is meant by the Fight-Fold Path?




